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h  of the following 10. If Ais C’s mother 4, D
em:s are eomotwith . - son, Eis Ag Slt is By

ce to Eco Sensitive sister, then hoy

(ES2) around, the |  E?

ed areas (national park, ,

“sanctuaries, etc.)? ‘ (1) Daughter

A e (2)  Brother-in-15y,
- Wildlife Protection | (3) Husband

7 1972 and Rules. < :
CaTAS | * ' (4) Sister-in-law
new commercxal { {tuly

- tted withm 1 km | § A11 If % means dawsxon @ means
| y of i addltlon * means subtraction,
¢ NS M # means mult1pl1cat10n then

- G ‘~>" ‘ s
b 21%3@4*2@9#2@8

~

(1) 38




hen 15 is included in a list
natural numbers, their
 is increased by 2. When
included in the new list,
“mean of the numbers in
list is decreased by 1.

'» many numbers were

y =
e (Y

e in the original list?

Ay g

i s e

¥ A e e L Yt e 0y
- < - [y i
G i O e e et By

s (1)

16. In a container,
epps out of Whict}:legee are 28
rotten. If two ergs aregcg: are
at random, whgy i b(:osen
probability that ¢ least the
epp s rotten?y ~v One

(1) 94/189
(2) 95/187

(3) 93/183

(4) 97/182

 of 40 students with
T 3 to 42, a student







22. When one reads
one is delighte

# 1L

a good book,
becayge

":“‘(1)‘/ one finds the windeys of
R x  the library opened

Ty 32)» one feels the influence of
R great writer
*I 4 : ) L= -

._ 1 ft T],.'




pirections : Read the following
passage and each group of four
statements given below contains
one statement which is most
acceptable in the light of the
passage and answer the questions
24 to 27.

-

There are a great many people
who : _have all the material
contt Mi{_*c;f happiness, i.e., health
—
suﬁaent income, and who

ess,” © are profoundly
. In such cases it would
if @efallt must lie with a
heory as to how to live. We
arselves more different
animals than wejfé
. on. unpulse, and are
; :lo_gg as extemal
'vorable. Ifyou have
- life if it has food

opportumtles for

ht on th¢ tiles.

affectiong.

When |
Some rich : N at leayy he has
mhin{c’x A " _Pleasure rey ,~'%
2 except h“”‘ylng o Naing
by eXhOI‘tati‘onS ¢4 lmlt er [)r:( pl

example,

You can n call
APPY, you will see that they all
have certain things in Common. The

most important of these things is
an activity which at most times is
enjoyable on its own account and
which, in addition, gradually builds
up something that you are glad to
‘see coming into existence. Many
men who spend their working life in
the city devote their Worm
voluntary and unremunerated toil
in their gardens, and when the
spnng comes they expenence all
the joys Joys of hawnwty It
is the simple things that really
matter. If a man delights in his wife
and children, has suech

ana—@lg;;s_g_re the alternation

of day and night, Spring ing and

autumn, he will be hﬂgEL‘"—"?ﬁi‘i"e’

his philosophy may be. M7 ** 20

animal, and his appiness depends






the following
mcreasmg order of

percentage of contributj
GSDP 2023-24 -

in
their
on to

(a ) State taxes

(b) Share of Central taxes
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Karnataka alyana

Re
DeVCIOpmcnt BOurd (K F(lonr)l

RI)P)
WhiCh Of th ff)”()wln
statements are Correcy,

tey

(a) KKRBD wgsq Created i,
Karnataka assembly,

(b) The jurisdiction of
KKRBD spreads over 40
g assembly constituencies

of 5 dlStI'lCts.




37. Karnataka Tourigm Road
Show, 2023 happeneq in three
cities in the month of August,
In which one of the following
cities was it organised?

(1) Pune

~ (2) Goa







@ (b) and (c) only

v R

| £ _g@) AH Bf ‘the above

Ty (4) . None, of the above
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-y ?

for the

lifetime

;':'ﬁﬁtion in 2023

g S establisheq in
the Governrnent

at is the name of the project
in Karnataka aimed at diverting
ater from the west-flowing
to the water-deficient
facing opposition from
wronmentahsts and
" %:ghbounng States?
o -
( River

1
L

b ¢ m“ Mahadayl River Diversion
‘ Prq;ect

§hhravat1 . '\ " River
Diversnf‘ cation Scheme

Tungabhadra . Water
m‘m{f;ertkﬂﬁnﬁve
| | [Wm\




ral  road
.me State
O has proposed to ol
S eamati  Path’ scheme.
. this, consider the
wing statements :

The is to
deve proroad network of

) The proposal is 1O
~ develop a road network
with 50 km each in 189
rural - Assembly

ERa e, & T ATy LR
hich of the above statements
1 .;.\ hi ’IE ‘ rre :t? :

"""""

55.

(¢) Bidar and Bengalury

(d) Ballari
Dharwad,

and Hubballi-

Choose the correct answer
from the options given below

(1) Only (a)

(2) Only (b) and (c)
(3) Only (b) and (d)
(4) Only (a) and (c)

Following are the pillars of
Karnataka’s Startup Policy

2022-27 :

(a) Creating and
strengthening New Age
Innovation Network.

(b) Channelizing innovation
for Societal Impact.

(c) Fostering: Social and
Rural Entrepreneurship.

inclusive and

(d) Building
Startup

equitable
Ecosystem.

Which of the above statements
are the pillars of Karnataka’s
Start-up Policy 2022-27?

he correct answer

Choose t
given below :

from the options
(1) (a), (b) and (0) only
@2) (b}, (c) and (@ onlY.
3) (@) (© and (d) only

(4) All of the above




to only
registered
tartups.




: tly introduced
g Stamp
t);,Act, 20237

“hundred rupees.

&
Iy

‘Stamp Duty in
cases and to make
yarate  provision
ing levy of Stamp
n Bank Guarantee.

(@) Karnatak,

=]
e
[=]

e

5]

P

i (43)

: with
recommendatlons on the

e oo
alter reviewing
the financial position of
Urban  Local Bodies
(ULBs) and Panchayat Raj
Institutions.

It will be headed by
retired IAS Officer
Mohamed Sanaulla.

It will also determine the
taxes, duties, tolls and
fees which may be

assigned to, or
appropriated by the ULBs

and Panchayats.

Article 243K of the

Constitution mandates
the State Governor to

constitute a Finance
Commission €very five

years.
(b) and (d) only
(a) and (c) only
(a) and (b) only

(c) and (d) only
[P-aO,



R

~ following | 61. Consider th
. €

t . statementg f()“f)wing
AR o
%) g ‘
a Brain
itiative is an | @) ghe Karnatay,
,‘d ed bythe | ovefnment rﬁCCntld
T permitted a mayip,, oyf
‘ six months (18 days) of
NS parental leavye only,
t establishing 33
“ cs which w111 \ (b) 1t is applicable to both
Government and private

male employees.

.he alth chmc | m&% (c) Single male parent does
SR ; : @ not include divorcees.

ed with a :
: pare ) ;
i et of a (d) If during this leave they
physmtheraplst get married, their leave
] sl theraplst I will automatically end
ologist, nurse and a I from that day, the order
o stated.
is being

Which of the above statements
are incorrect?

(3) (c) and (d) only

‘ntai‘ Health
i (1) () and (c)only
) (2) (a) and (b) only

e @) (a) and (d) only

A a2




of the fol

p owin

tatements are correct abou%
‘The Factories (Karnataka
.‘ Amendment) Act, 2023?

(a) The Amendment allows
the factories to increase
the working hours from
nine hours up to twelve
hours exclusive of rest
intervals.

(b) The overtime can be
extended to a maximum
of 48 hours in any week.

(c) It is optional to take
written consent from the
workers for the same.

E

B (d) The State Government
' may by notification,
extend the total number
of hours of work of a
worker without an interval
to six hours in respect of
any group Or class or
description of factories on
such conditions as it may

. deem expedient.

(b) and (d) only
(a) and (¢ only

) (a) and (b) only

“ - d (d) only
.’(“) and (d) 47)

63. Which of the following

=

o
%2

' [5]

statements are correct?

(a) The Government  of
Karnataka has been a
leader in promotion of
millets - The first Organics
and Millets Fair was held
in 2017, the second and
third editions in 2018 and
2024 in Bengaluru.

(b) Karnataka State
Agriculture Products
Processing and Export
Corporation Limited was
the nodal agency in
conducting the fair.

(c) Karnataka has imported
7764 million tonnes of
millets and millet value-
added products worth

T 36 crore.

(d) America, Australia, Qatar,
Thailand, UAE and
Singapore  are major
import destinations.

(1) Only one statement 1S

correct

(2) Only two statements are
correct

(3) All of the  above
statements are correct

(4) None€ of the above
statements are correct

[P.T.O.




at is the DISHANK

: NK a
ched by the Karnamﬁg
primarily

To identify land survey
number and location
For preserving
conserving wildlife
For disaster management
To identify drought hit

areas
L3 e ]

and

65. How many of the follb’:/.w

statements  are inco

about e-sahamathi?

(a) It is a portal wherein the
data holder gives consent
to share his/her data with

e other agencies. ,

~ (b) It has been developed by
e-Governance department
with National Informatics
Centre (NIC). v
) Government will ~ be
custodian of the data, i.e.
= Data Fiduciary and can
_ sell this data to private
 agencies  and et
revenue on the same.
rnataka will be the first
the country which
ot the data.

A

!
th;e ~ above
S j'.&i’ﬁ}iﬁWﬂOﬁg

- the above
are Wrong

(49)

66. Which of the

following

statements are correct abot
Lion-Tailed Macaque?

(a) As

(©)

(d)

(1)
(2)
(3)

(4)

per the  study
conducted by the
Karnataka Forest
Department and
Coimbatore-based Salim
Ali Centre for Ornithology
and Natural History
(SACON), Karnataka has
the world’s largest
population of Lion-Tailed
Macaques (LTMs).

LTMs are the indicators of

 evergreen forests as they

prefer canopy and are

rarely seen on ground.

This is the first LTM

assessment exercise for
the Sharavathi Valley

Sanctuary, which
specifically focuses on
Shivamogga circle.

It is an extinct species
which 1is endemic to
Western Ghats of South

India.

(b) and (c) only
(c) and (d) only
(a) and (b) only

(a) and (d) only
[P.T.O.



5 the fi '

- statements Poing

-' (a) Uttar Pradesh  and
Karnataka dominated the
electronics export
amongst other Indian
States till 2022.

(b) In the last five financial
years, Karnataka has
shown consistent growth
in electronics export.

() Tamil Nadu has the

~ highest export (in value
INR) of electronic goods

for the year 2023-24.
How many statements is/are

correct?

(1) Only 1
k. correct
(2 Only 2 statements are

statement is

Only 3 statements

; correct

(4) All statements are
~ incorrect

the following

 Karnataka has
_ established a “Fact check
~ unit” to combat fake news
~and  misinformation,
pecially on social
g edia. '
There is an Information
sorder Tackling Unit
) which comprises of
ﬁmS that will aid the

correct

69.

(c) The unit is set up in
collaboration between the
Department of
Information Technology
and Home Department.

(d) The  Supreme Court

stayed both the Union
and State Government’s

notification, which
established the Press
Information Bureau’s Fact
Checking Unit (PIB FCU)
and State Fact Check

Unit.
How many statements is/are

correct?

(1) Only one statement is

correct

(2) Only two statements are
correct

(3) Only three statements are
correct

(4) Al of '\ the above

statements are correct

For which of the following
Kannada poetries, Shruthi
B. R. has received the 2024

Sahitya Akademi Yuva

puraskar?
(1) Dhoopada Makkalu

(2) Zero Balance

(3) Phoo Mattu Ithara
Kathegalu

(4) Togala Cheelada Karmma

[/P. T. O\




'S In - which of th
following themes? i

(a)
(b)

Health and Nutrition

Agriculture and Water
Resources

(c)

Financial Education and

skills development
(d) Education
(e)

Choose the correct options
given below :

» (1) Themes (b), (c) and (e)
(2) Themes (a), (d) and (e) -
(3) Themes (b), (c) and (d)
(4) Themes (a), (b) and (d)

Transportation

71. In 2021, WHO has launched
. the first ever global strategy to
defeat meningitis by 2030.
Which are the antibiotics

recommended by WHO to
. treat this disease?

(1) Penicillin,  Ampicillin,
; | Ceftriaxone

L 2) Metronidazole, Cephalexin,
~ Doxycycline
Amoxicillin,

l Ciproﬂoxacin

-y

72. Which of the following organs
is not considered to be
immunological important
organ?

(1)

Bone marrow

(2) Thymus
(3) Spleen
(4) Pancreas

73. Mark the following statements
about the vitamins that are

true :

(a) Total daily requirement of

vitamins is very small.

(b)

Vitamins are not present
in the common food stuffs.

(c) Synthetic vitamins are not
nutritionally as good as

natural vitamins.

Bacteria present in the
human gut can synthesize
some of the vitamins.

(@)

(a) and (b) are true while
(c) and (d) are false

(1)

(2) (b) and (c) are true while
(a) and (d) are false

(3) (a) and (d) are true while
(b) and (c) are false

(4) (b) and (d) are true while

(a) and (c) are false
RAT 10




Match List—I with List—II

‘-List—I List—IT

J Radioactive (i) Equal to the

- isotopes number of
protons found
in the nucleus

(b) Radiation (it) Equal to the

unit number of
protons and
neutrons in the
nucleus

(c) Atomic (i) H, 3%s, '*C,
number 1271 39¢g

of a
chemical (813
element %11%
:"d} Mass
.  number

(iv) Curie (Ci),
Millicurie (mCi)

of a

chemical
- element

(U} 3H, 358, 14C,
1311’ 6OCO

Choose the correct answer
jfrom the options given below :
@) m (@ (@
é) w @ 0

) ) )
/uz) iy @ 0

: 6 @
| (55)

75. Consider the following

statements :

Assertion (A) : The stream of
water flowing at high speed
from a garden hOlee tends
to spread  like a fountain when
held vertically up, but tends
to narrg_v_g__dgwn when held

vertically down.

Reason (R) : In any steady
flow of an incompressible fluid,
the volume flow rate of the

fluid remains constant.
i e

Choose the correct answer
from the options given below :

(1) Both Assertion (A) and
Reason (R) are true and
Reason (R) is the correct
explanation of the
Assertion (A)

(2) Both Assertion (A) and
Reason (R) are true but
the Reason (R) is not the
correct explanation of the
Assertion (A)

(3) Assertion (A) is true, but
Reason (R) is false

(4) Both Assertion (A) and
Reason (R) are false

X (oY



latch List—Iwith List—II.

I List—IT
: (i) Double
sun glasses refraction

decrease glare
on a sunny

day because
they

(b) The
substances
- that rotate
¢ the plane of
~ polarization . y
o B
~ to be
(c) Which
phenomenon
- causes the
~ polarization
of light

id) Quantum
~nature of

~ light is not
~ supported
by the

- phenomenon
o

(i) Block a
portion
of light

(i) Optically
active

(iv) Diffraction
of light

(v) Interference
4 of light

}Choose the correct answer
from the options given below :

@)  (b). Meluwi(d)

@ i) @ ) 0

@ & © @6
4 @ @ G

RN

C . (57)

77. Which  of  the following
statements are correct with
reference to a nuclear power
plant?

(a) The by-products can be
disposed-off directly in
the atmosphere,

(b) Fuel transportation cost is
very high due to large
quantity.

(c) The capital cost is very
less as compared to other

plants with similar
capacity.
(d) Specially trained

personnel are required
for plant operation.

(elisthelli *fuel used s
expensive and is difficult
to recover.

(ff A nuclear power plant
requires less space as
compared to any other
type of the same size

(g9 Nuclear power plant can
be located near load

center because bulk
amount of fuel is not
required.

Select the correct answer
using the code given below :
(1) (d), (e) () and (9) only

(2) (a) (P) (c) and (d) only *
(3) (b), (c); (@), (¢) and (f) only
@) (a), (b), (), (@), (e) () and .

(9)
[P.T.O.



3 The. most dangerous
- radioactive pollutant among
- the following is

(1)
@
(3)
@

phosphorous-32
strontium-90
calcium-40
sulphur-32

83. The molecule acting as a
second messenger in the
~ biological system is

- (1) cDNA
(@) cAMP
(3) tRNA
(4) hnRNA

b. The importa‘ntA function of
ionosphere is

( 1) to create rainbow

(2) radio wave propagation to
~ distant places on the
g;-,.blocking of sunlight

) blocking of sound

e in an electric circuit is
1 to prevent excessive flow
irrent. A fuse is made up

ERE
0}

87.

about nanomaterials?

(a) The properties strongl

gly

depend on the
atoms.

Surface

(b)) They have large siyrface

area.

(c)

Nanoparticles have
typical sizes > 100 nm_

(d)

We cannot see particles
of nanomaterials from the
naked eye.

Select the correct answer
using the code given below -

(1) (a), (b) and (c)
(2) (a), (c) and (d)
(3) (b), (c) and (d)

(4) None of the above

Consider the following :
(a) Mica

(b) Graphite

(c) Sulphur

(d) Human body

Which among the above is/are
electrical conductors?

(1) Only (@), (b) and (d)
(2) Only (b) (c) and (d)
(3) Only (b) and (d)

(4) Only (b)
[P.T.O.



During a hot sunny day
people feel cool in the shadow
under a big tree

(@) because the tree blocks
direct sunlight.

(b) because heat from the air
is used in evaporation of
water by tree leaves
reducing the temperature.

(c) because photosynthesis
by tree leaves absorbs
energy from sunlight.

(d) because tree leaves
absorb water vapour from
air which is an
endothermic process.

The correct answer is

(1) only (a)

(2) only (a) and (b)

(3) only (a), (b) and (c)

(4) all (a), (b), (c) and (d)

9. Match the following and
- choose the correct answer in
- view of polymer products.

Polymer Name Uses
olyethylene (i) Nonstick
: surfaces

(ii) Adhesives

bottles
(iv) Pipes
(b) (¢ (d)
(iv) (i) (ii)

) (@) (i)
@ @ (v
G @@ ()

(63)

90. A secondary rainbow i

2 "’l‘/‘/;l(/u’

geen with a rainbow.
(a) A secondary rainbow
appears above Or outside

a primary rainboy

(b) The secondary rainhgy, ia
always fainter than the
corresponding

prima ry
rainbow.

(c) The orders of colours of
primary rainbow and

secondary rainbow are
opposite.

(d) A secondary rainbow is
only a refraction of a
primary rainbow.

The correct statement(s)
among the above is/are

(1) Only (a)
(2) Only (a) and (b)
(3) Only (a), (b) and (c)

(4) (a), (b), (c) and (d)

91. lodex is
(1) methyl salicylate
(2) ethyl salicylate
(3) acetylsalicylic acid

(4) ortho-hydroxy
acid

benzoic

[&TrO.



2. Aditya-L1 is the first Indian

Space based observatory to
study the Sun

(1) from a geostationary orbit

(2) from the first Lyapunov
orbit around the Sun

(3) from a halo orbit around
Sun-Earth  Lagrangian
point

(4) from the first orbit around
the Sun-Earth Lavoi%
point

93. The scientific objectives of
Aditya-L1 mission include

) (a) study of coronal heating
B and solar wind
e acceleration.

(b) study of solar neutrino

' oscillation and conversion
F of solar hydrogen through
fusion.

(c) study of Coronal Mass
Ejections (CME) and
dynamics of solar
atmosphere.

- Choose the  correct answer
from the options given below :

(1) Only (a) and (b) are
correct

(2) Only (b)
correct

(3) Only (a) and (c) are
correct

(a), (b) and (c) are correct

and (c) are

@

(65)

94,

95.

In connection with
Chandrayaan-2, CLASS referg
to

(1) an X-ray spectrometer

(2) a solar X-ray monitor

(3) an atmospheric
compositional explorer

(4) a dual frequency radar

Consider the following
computer memories :

(a) Main memory

(b) Cache memory
(c) Register memory
(d) Auxiliary memory

Arrange the above computer
memories in decreasing order
of their accessing speed :

(1) (d), (b) (c) (@)
) (), (@), (b) (c)
(3) (c) (b), (@), (d)

4) (a), (c) (b), (d)
[P.T.O.



96. Which  of the following
statements is/are true about

8 blockchain?
‘ (@) A blockchain is

A centralized digital leds:
| consisting of reco
called blocks.

ockchain database is
(b) :1 ;: aged autonomously

~ a peer-to-peer
1‘::::‘;11: and a distributed

timestamping server.

(c) A blockchain has been
described as a value-
~exchange protocol.

Select the correct answer
- using the code given below :

L) @ and (5) only

, (2) (b and (c) only 2%
@) (gonly

(@), (b) and (c)

i
-

onsider the  following
atements regarding LASER :
Laser' beam is

emission of laser
®am stimulated emission
absent.

98. Which of the

(67)

which of the above Statemnents
are correct?

(1) (a) and (b) only
(2) (c) and (d) oy
(3) (a) and (¢ only
4 (@), (b) and ( only

4I€ correct with
Certiﬁcation?

(a) This Certification is issued

to beaches, €stuaries and
deltas.

(b) The certification issyed
based on 33 criteria and

it is an Internatjonall_v
recognised eco label.

() BEAMS is India’s own
ecolabel for beaches
launched in 2020

(d) Two sites from Karnataka
Kasarkod beach and
Padubidri beach have
received blue flag
certification.

Choose the correct answer
from the options given below :

(1) All of the above
(2) (a), (b) and (c) only
(3) (b), (c) and (d) only
(4) (c) and (d) only
[P.T.O.



As per the National Policy on

Biofuels, 2018 and amended
on 2022, which of the following
are correct goals?

second

(a) Setting ‘
bio

generation
refineries.

up
(2G)

Development of new feed

) .
stock for biofuels.

(c) Development of | mew
technologies for

convention of biofuels-ﬁ ‘

Creating suitable
environment for biofuel
and its generation with
the main fuel.

(e) Reinforcing ongoing
ethanol / biodiesel
supplies through
increasing domestic
production.

Choose the correct answer
from the options given below :

Only one statement is
correct

Only two statements are
correct

Only three statements are
correct

All the statements are

correct

(69)

100. Under

the

B anieres R(:(:Ovcgry .of
component of the C\el:limes’
Sponsored S hrany
cln.teg.rated D(:vclopmecnteme
Wildlife Habitatg’ for tl’?f
recovery of endangerefl

species, consider th i
e fol
matches : T

(a) Sangai ) Manipur

(b) Jerdon’s  courser
Andhra Pradesh

Megapode — Andaman
and Nicobar

Hangul — Jammu and
Kashmir

(@)

Choose the correct answer
from the options given below :

All matches are correct

(1)
(2) (a) and (d) are correct

(3) (a); (b) and (d) are correct

4) (a), (c) and (d) are correc

[P0



